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Formeln

für linear nicht veränderliche Belastung

PR =           + F . lb
lx

F . lz . tan 400

2 . (ly - Dm)

PA =                    + F . lb
2.lx.tan400

F . lz
2 . (ly - Dm)

PR =                    + F . (la + lx)
lx

F . lz . tan 400

2 . (ly - Dm)

PA =                         + F . (la + lx)
2 . lx . tan 400

F . lz
2 . (ly - Dm)

PR =           + F
2

F . lz . tan 400

2 . (ly - Dm)

PA =                     + F
4 . tan 400  

F . lz
2 . (ly - Dm)
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Formeln

PA =        +           + F
4

F . lb 
2 . (ly - Dm)

PR = tan 400                 +           + 
F
4

F . lb 
2 . (ly - Dm)

F . la 
2 . lx[ ]

F . la 
2 . lx

PA =        +           + F
4

F . lb 
2 . (ly - Dm)

PR = tan 400                 +           + 
F
4

F . lb 
2 . (ly - Dm)

F . la 
2 . lx[ ]

F . la 
2 . lx



26

PA min = 
F . (la + lx)

2 . lx . tan 400

PA max = 
F . (lb + lx)

2 . lx . tan 400

PR max = 
F . (lb + lx)

lx

PR min = 
F . (la + lx)

lx

PR  = 
PR min + 2 . PR max

3

PA  = 
PA min + 2 . PA max

3

PA min =                          +         
F . (la + lx)

2 . lx . tan 400

F . lz
2 . (ly - Dm)

PA max =                           +         
F . (lb + lx)

2 . lx . tan 400

F . lz
2 . (ly - Dm)

PR min =                      +         
F . (la + lx)

lx
F . lz . tan 400

2 . (ly - Dm)

PR max =                     +         
F . (lb + lx)

lx
F . lz . tan 400

2 . (ly - Dm)

Formeln

PR  = 
PR min + 2 . PR max

3

PA  = 
PA min + 2 . PA max

3
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PA min =       +                     + 
F
4

F . (lc + ly : 2) 
2 . (ly - Dm)

F . (la + lx : 2) 
2 . lx

Formeln

PA min =        + F
4

F . (la + lx : 2) 
2 . lx

PA max =        + F
4

F . (lb + lx : 2) 
2 . lx

PR min = tan 400                 + 
F
4

F . (la + lx : 2) 
2 . lx[ ]

PR max = tan 400                 + 
F
4

F . (lb + lx : 2) 
2 . lx[ ]

PR  = 
PR min + 2 . PR max

3

PA  = 
PA min + 2 . PA max

3

PA max =       +                      + 
F
4

F . (lc + ly : 2) 
2 . (ly - Dm)

F . (lb + lx : 2) 
2 . lx

PR  = 
PR min + 2 . PR max

3

PA  = 
PA min + 2 . PA max

3

[ ]PRmax = tan 400                +                        + 
F
4

F . (lc + ly : 2) 
2 . (ly - Dm)

F . (lb + lx : 2) 
2 . lx

[ ]PRmin = tan 400                 +                       + 
F . (lc + ly : 2) 
2 . (ly - Dm)

F . (la + lx : 2) 
2 . lx

F
4


